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General Instructions: e ligds”
1) Read carefully and attempt all questions.
_Q/(J’.:Ulrfaulu.‘."/,c;u’:_l

2) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown
in the example given below.

VWIS & e Lot 26 LI JE 0 2
Example: Dengue is caused by:
P 2
(a) bacteria (& (b) fungi Je
@virus S (d) algae ‘fl
3) Use black/blue. ink for writing. Use of lead pencil is not allowed.
Py S ¢ Je L J* ‘f:_q/ el [ ded £l r
4) If more than one options are encircled in a question, no mark will be given.

Kbl A3 Wi S L ciimlie LIt IS

Total Marks: 48 Part-A (Multiple Choice Questions) Total Time: 1 Hour 15 Minutes

Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this part. Each question
carries 1.5 marks.

ALy ot s $E U A (B2) U o tim g

Q. No.1.Part of neuron which receives messages is called: P Z‘Lrlkﬂ‘arfdf)at%ﬁygtﬂjf
MNucleus _=F+
(@) nucleus oy
B Dendrite
(b) axon uﬁg @\ 2 ded
(c) dendrite S S
(d) receptor Fere
Cell body
Q. No.2. Different reflex actions are controlled by: %= :‘ge'fd;)-"’fr"guf";ﬁ
(a) heart Js (b) spinal cord 5/t
(c) brain s (d) liver &
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Q. No.3. Lithotripsy removes stones from: _‘4‘%-/‘5 ) Py Su— N

(a) kidneys Ut (b) heart Js () lungs  us2% (d) brain Ehs
Q. No.4. During meiosis, the number of chromosomes is: -‘Lglg!l ———————————— WSS pr s Sedm o §
(a) increased by one  miifie & (b) decreased by one (- e
(c) doubled e (d) halved i
Q. No.5. Which of the following options is correct? ?‘ij)cﬁr‘llu)f PRy E )
Inheritable Character =+ s | Non-Inheritable Character s S
(@ | Lost body organ #3215t | Earlobes ¥
(b) Hair curling @Jgfi §UsL | Language wbJ
© | Mole J* | Tongue rolling ¢S Usbuls
(d) Hand writing &&JJJ@ Eye colour f/m,ff

Q. No.6. The biotechnological product used for the treatment of viral infections is:
S G b JRNL A I L Lot £ g sie g 21
() betaendorphin  o# .t (b) growth hormone  w»AZs/)
(c) insulin e (d) interferon Ui 2
Q. No.7. Which biotechnological technique is used for direct examination of DNA?
S B £E S I et e fISSLFSENL A o e B3 00sr

(a) Gene therapy Qu/gf (b) Genetic testing —E-+_c+>
(c) Cloning Sk (d) Tissue culture ffﬂ

Q. No0.8. The diagram below shows a forest area before and after building a factory. Building the
factory has caused an increase in:

?‘LIMJDIKZZ;/%UL;GL&U}?-‘FW/UQJ/K&.{Iuf.'#.’ul%:—Lﬁd/igrl)ib‘érd;é

Before

& &

(a) natural habitats Jdus (b) open space w’J”K
() airpollution  $osTdix (d) available water ~ dLt
Q. N0.9. The gas which causes the greenhouse effect is: C' Z‘Lut‘Ly@(&?ﬂlJﬂ,@; 20t
(@) methane ‘j,';f /’
(b) hydrogen Sk /
(c) oxygen J{T
(d) nitrogen St
Q. N0.10. Skin cancer is caused by: e o0 LM
(a) greenhouse effect u?ﬂusyqf (b) acid rain j/gql Vi
(c) ozone depletion J»‘#sumv (d) deforestation  sU¥=1£
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Q. No.11. Which human activity has harmful effect on the environment?
?wé‘_nalﬁl.ﬂ'ﬁx,diuid;’ Qs
(a) Recycling paper G (c) Growing plants (i sy
(b) Riding a bicycle to school £/ § L FJs- (d) Deforestation S
Q. N0.12. When electricity is passed through acidified water, it breaks down into H, and:
e G eIl QoS E e Qb tas
(@ Cl, (b) N2 (c) O, d) F,
Q. N0.13. The example of decomposition reaction is:

e JOS PSR
(a) CaO + CO, — CaCOs (b) 2Pb(NO3)2 — 2PbO + 4NO; + O,
(c) HBr + KOH— KBr + H,0 (d) NaCl + H,O — HCI + NaOH
Q. No.14. Cooking food is an application of which of the reactions? ?‘gawl(&f’d/ﬂgtu’
(a) Neutralization ¢*7u/y (b) Decomposition ﬁ]}.{d}b
(c) Endothermic & %+ (d) Exothermic £ &+

Q. No.15. Sodium hydroxide reacts with ammonium chloride to produce:
&bt ZSS w::,ym‘(fru’ LT fly
(@) CO» (b) H> (c) NHs; (d) N
Q. No.16. Turmeric paper remains yellow in acidic solution while in basic solution it changes to:
:‘Lb'nvf/(u’luﬁd); LS ..‘e‘at'xl}g,ufdﬁ R

(@) yellow 1 (b) brown 31 (c) blue (d) green -

Q. No.17. How much pressure is exerted by applying 1000N of force on an area of 0.02m??
€0 % (7, 5.0.02m* = F 1000N
(a) 40,000 Pa (b) 50,000 Pa (c) 80,000 Pa (d) 100,000 Pa
Q. No:18. Compressed air is filled in:

el A o= (50U Vo5,
(a) television i 2 (b) oven sl
(c) automobile tyre LK (d) electriciron 15~

Q. N0.19. A man climbed to the top of a very high mountain. While on the top of the mountain, he
drank all the water in his plastic water bottle and then put the cover back on the bottle. When
he returned to the camp in the valley, he discovered that the empty bottle had collapsed. Which
of the following explains correctly as to why did this happen?

T bT U e IS R e P b T o o e e QB2 ST SO 0 58Ntz g ihen
(.‘mu:..f L,«,'IJ/ ‘Lb'/ ..‘a?l.é::,-/uu.l:;buf ;ufaty.éz,;é-‘aﬁr ug-:‘f /.J G,E,f ‘LG{:
(&) The temperature is lower in the valley than on the mountain top c[.:d’],.?/}#/ :.&gJig;u:d;u,

(b) The temperature is higher in the valley than on the mountain top Laa/l]guupcé};d/ﬁ'l{{:ufdm

(c) Air pressure is lower in the valley than on the mountain top %s;m{ Légdﬂ‘%uﬁd,u
(d) Air pressure is higher in the valley than on the mountain top f.sg;KvnD;g;:.éngL‘;u:d,u;

Q. No.20. 4cm=
(@) 4x10°2m (b) 4x1073 m (c) 4x10%°m (d) 4x10°m

Q. No.21. Which unit is used to measure mass of sugar?
e tneiie o L L SSF
@ m (b) kg (c) sec (d) N
Q. N0.22. Which of the following is an example of application of expansion and contraction of solids?
?‘gtffdl'}(!ol]blLfl%’ﬂlfﬂj{érwu})‘;’;uﬁd}y}#
(a) Electric fan  WEun’ (b) Electric motor  /»{.
(c) Riveting Ly (d) Telephone Brs
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Q. No.23. Which of the following does NOT use bimetallic strip?
?an:db:”l(d};alm»ufg//;ufdjgjﬂ

(a) Telephone i (b) Fire alarm 76
(c) Thermostat =i 3 (d) Electriciron ¢ »1d~
Q. N0.24. Thermometer measures ---------------- . e B
(a) time s (b) mass Ul () length (U (d) temperature z4
Q. N0.25. Double convex lens is labelled as: ?‘gyfp‘}"‘-’vuff'/?ﬂf‘}j
() P
(b) Q
© R
(d) S P Q R 8
Q. No.26. Identify the figure in which object is placed beyond 2F. e yme 2B S S el s
Obiect 2 Ob;cct -~
nect g y —
> A 1=
(a) T e e N E ® ——= \,4\ —
2F F ." | - i 2 R e |
Ob’“{ , Object '
NG /\ /N
© I . \\“é:#\\f = A @ I\ \‘\.4 \\i 2F
2F F o TR 2F F .
S \ S

Q. N0.27. The part of human eye which alters the thickness of lens is:  :e_set /(b4 /3t S22 06 F T30
(a) iris JA (b) retina Ly
(c) optic nerve ST (d) ciliary muscles )"d/}f

(o) ab’ndl.v’l,/’mlf;u"n"u(d:

Q. No0.28. The experiment. shown in the given figure is used to:

() make electromagnet - &Lt Fid.

(b) generate electricity Ll SigF
(c) squeeze lemon LLi iy
(d) measure current LS

Q. N0.29. Air becomes polluted in which of the following power generations?
?‘L(}nui‘l’lnuﬁoﬁ' ﬂuql;gfr GU:J“)'.?/,C#

(@) Thermal (~# (b) Hydal  Ji
(c) Wind % (d) Nuclear =y

Q. N0.30. The source of energy at Chashma nuclear power plant is: ?‘Ltndu&u“;st,«u/ K&jtu:_‘jlgug/’:‘ik
(a) coal i (b) sun G
(c) moving air e (d) fission reaction u“('d/u”

Q. No.31. The gases present in the tank of astronauts are N, and: -w-——-——J}lNzw:f dué_lgéguf.ﬂéuwiu&
(@) Cl (b) H (c) O, (d) He

Q. No0.32. In the given diagram of telescope, objective lens is labelled as:

R N N,

(@P

(b)Q bt O S
(©R \. e
(d)S N
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